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QUESTION 1

If a DB2 subsystem fails during start up in the log initialization phase, which two steps are needed in your corrective
actions to minimize impact without completing a cold start? 

A. Start DB2 using DEFER ALL. 

B. Use DSNJU003 with the ENDRBA option. 

C. Use DSNJU003 with the STARTRBA option. 

D. Start DB2 using DEFER on catalog and directory. 

E. Recover the subsystem to the last known system checkpoint in BSDS. 

Correct Answer: DE 

 

QUESTION 2

Which action should you take to improve the performance of authorization checking for stored procedures or user-
defined functions? 

A. Set subsystem parameter EXTSEC to YES. 

B. Increase the value of subsystem parameter SECQTY. 

C. Increase the value of subsystem parameter AUTHCACH. 

D. Increase the value of subsystem parameter CACHERAC. 

Correct Answer: D 

 

QUESTION 3

A given buffer pool is to be used for sequentially accessed pages only. Setting which buffer pool attribute to 0 (zero) will
disable parallel processing operations in this buffer pool? 

A. DWQT 

B. VDWQT 

C. VPSEQT 

D. VPPSEQT 

Correct Answer: D 

 

QUESTION 4
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In complex DB2 recovery scenarios, it is important to understand the scope of which objects require recovery. 

Which DB2 utility provides a list of the names of all table spaces in the table space set that is specified and a list of all
the tables in those table spaces? 

A. CHECK 

B. REPORT 

C. QUIESCE 

D. RECOVER 

Correct Answer: D 

 

QUESTION 5

A column mask is defined on TB_A. Which statement runs successfully? 

A. SELECT \\' FROM TB_A UNION ALL SELECT \\' FROM TB_B 

B. SELECT \\' FROM TB_A INTERSECT SELECT * FROM TB_B 

C. SELECT \\' FROM TB_A EXCEPT ALL SELECT \\' FROM TB_B 

D. SELECT\\'FROM TB A INTERSECT ALL SELECT * FROM TB B 

Correct Answer: A 
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